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Candidates are required to give their answers in their
own words as far as practicable.

Rlustrdte the answers wﬁérever necessary.
1. (a) Define and classify epithelial tissue.

(b) Describe simple epitheliumn with diagram.
: ' (3+4)+8

Or

(c) Mention different types of muscle present in human
body and write down their characteristics.

(d) Describe the minute structure of skeletal muscle with
. simple diagram.
(3%2)+9
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2. () Write down the composition of blood and mention
their functions.

{b) Describe the mechanism of blood circulation within
the heart in brief.
(5+4)+6

Or

(a) Classify bones of human body and mention its
functions. | :

{b) Write the name and number of different bones which
form Appendicular skeleton.
’ (3+3)+9

3. (a) What do you mean by endécrine gland ?

(b) Write the name of endocrine gland from where the
following hormones are secreted and enlist thei
functions : 3+(4x3:

(i) Thyroid ;
{iij Adrenaline ;
(iii) Insulin.
Or
(c) Describe the different parts of digestive system with
proper diagram.

(d) How the carbohydrate is digested in the digestive
tract ?
10+5
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4. Write short notes on (any two) : 2x7%

(a) Types of muscular contraction.
(b) Effect of exercise on muscular system.
(c) "Autonomic Nervous system.

(d) Effect of exercise on circulatory system.

5. Answer any ten questions from the following : 10x1

(a) The cell organ responsible to produce energy during
muscular contraction is —
(i) Ribosome ; (ii) Lysosome ;
(iii) Mitochondria ; (iv) Nucleus.

(b} The structural and functional unit of the Nervous
system is —
(i) Nephron ; (ii) Pancreas ; .
(iii) Brain ; (iv) Neurone.

(c} Fill in the blank :

is not an example of connective tissue —

(i) Adipose tissue ; (ii} Bone ;
(iii} Neuroglia ; (iv) Cartilage.
{d) Periosteum is the buter cover of —
(i Heart ; {ii) Bone';
(i) Liver ; (iv) Kidney.
(e} Numbers of thoracic vertebra in vertebral column is —
(i) 12 ; (i) 7 ; (i} 5 ; (iv) 10.
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(i Example of an immovable joint is —
(i) Shoulder joint ; (ii) Hing joint ;
(ili) Pivot joint ; (iv) Sutures.
(g) Hinge joint can perform —
(i) Flexion & Extension
(i) Adduction & Abduction;
(iii) Rotation & Circumduction ;
(iv) All kinds of movement
(h} ‘Arm curl’ is an example of —
(1) Isometric exercise ; (ii) Isokinetic exercise :

(iii) Isotonic exercise ; (iv) Static exercise.
(i) Increase the number of fibre in the muscle as a result
of strength training is called —
(i) Hypertrophy ; (ii) Hypertension ;
(iii) Hybernation ; (iv) Hyperplasia.
() The main excretory organ of human body is —
(i) Lungs ; (ii} Kidney ; (iii) Stomach ; (iv) Skin.
(k} The amount of air inhaled or exhaled during each
inspiration or expiration is called —
(i) Stroke volume ; (i) Air volume :
(iii) Vital capacity ; (iv) Tidal volume.
(I} Normal Diastolic blood pressure of an adult person
is — :
(i) 120 mm Hg ; (ii) 160 mm Hg ;
(iii) 80 mm Hg ; (iv) 60 mm Hg.

C/16/B.P.Ed.{N)/BCC-102 {Continued)



I

w1 TSl AT T
A DERETT IET T ST B9 (R Sl -

st (F) W%ﬁmwmemﬁ?ﬁmﬁﬁy
€)) mﬁimmﬁfwaﬁml
' (9+8)+v
qo
(@) Wﬁmwcﬁwmm&«wm
T 391

) Wfﬁ'mammw&tﬁawwﬁq 459 7fot =7
. (Ox)+»

RUNC)) mﬁf@@mﬁmmmwﬁcﬁwwu'
(4) THPIT TGJTTH FEENT AT FCHCA I 79|
' (&+3)+v

A

gy

(as) WRR SEE @R 37 R 97 e SEre 39

() @mew&eﬁamew\mﬁmﬁs@m
T |

(9+9)+5

C/16/B.P.Ed.(N)/BCC-102 {Turn Over)



ol (F) SgeFA offF wce F @R

() TrfiRe el @ W werEely (e wEe @
SR AN (T AR, FARAER I TTHY I ¢

©+(ox8)
() HRICTS ;
(i) SoTGAe ;
(i) TYfE |
LS
() Bz ez oy wafm aft met
(R) =feie AT ILRCGE ol ARAT Zhe
SYo+@

8l ﬁ‘ﬁﬁ@@ﬁﬂﬂ‘@%ﬁ@ﬂﬂiﬁﬁ@%@(ﬂmﬂﬁﬁ):

Qx‘\%"{

) ﬁfw APIF (AR AP |

@) iNerEa Selw gEed g4eR|
() =efern wEeE)

(7) FAEReUEd Bol gEeE ¥er|

C/16/B.P.Ed.(N)/BCC-102 {Continued)



¢| FrfRe epefe (Ae @ W P aTHE B9 (T4 2 Soxd

(F) o ATIIGLAT HIW (T (1R Sl =G NS o7 o1 2 —
(i) BTSN ; (i) ARCHTH § '
(iif) WEHRAGH ; (iv) WEfFEE)
(}) ST No5TS @ IS 9GS Te —
(i) 78w ; (ii) RN ; (iii) 9% ; (iv) REwam)
() FE S T —
— CRREIR THiRRY wH |
(i) G @l ; (ii) WX ; (iii) T ; (iv) SR
(9) e 731 —
oo == -7 REAT TG TR |
() TS 5 (i) % ; (i) TP ; (iv) 9
(8) FMLS (RIS FOIFIIR WA T —
@ 12 % i) 7 ©; i) 5 B (v) 10 B
(5) 3 woe AT g z& — '
(i) Fowm A& ; (1) I A
(iii) P15 A& ; (iv) PN
(@ T AGS @ 7 AWTH FA A O T —
(i) Wewﬁmﬂ 5 (i) TSI @ YA ;

(iii) CATCEHF @ ATIINGIFHA ; (iv) ATY TFA AW |

C/16/B.P.Ed.{N)/BCC-102 ' (Turn Over)



(@) ‘o FE(’ (T AR AT SR ©F ol —
(i) SRR AT ; (i) HLCAPRCADS JAW ;
(iti) SHRCATCGS AR 5 (iv) FoRibE I |
@) WSy ofirerR T IRTe coiftowR W IR/
O T —
(i) TRAREE ; (i) TRATCET ;
(iti) 2ZIRCT ; (iv) ﬁm@ﬁm
(8) TFLTR LU (IO OO T —
(i) T 5 () 395 (i) AEN ; (iv) T
® aﬁmﬁmmﬁsmmmﬂﬁmwmﬁwmm
ARGE W BN ANA —
(i) TS <fe ; (i) ar{'ﬁf%mcf;
(iti) Y HRRAT ; (iv) oD A
- (3) IRATE I IRT oBIA IGHLAT AR 771 —
{i) 120 mm Hg ; (iij 160 mm Hg ;
(iii) 80 mm Hg ; (iv) 60 mm Hg|

C/16/B.P.Ed.{N}/BCC-102 TB—300



